Test Booklet Code & Serial No.

H\"‘l‘-lr?lq?l %hle d 9|’>'-|i°h A

Paper-11
PSYCHOLOGY

Signature and Name of Invigilator Seat No.

1. (Signature) ........ccceveeeeeeeeecciiiiieeeeees (In figures as in Admit Card)
(NAM) oo SCATINO. ettt eea s

2. (Signature) .......ccccceeeeeeecivieeeeeeee, (In words)
(NAINE) .o OMR Sheet No.

APR -13224

Time Allowed : 2 Hours]

(To be filled by the Candidate)
[Maximum Marks : 200

Number of Pages in this Booklet : 44

Number of Questions in this Booklet : 100

=

10.
11.
12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 100 objective type questions. Each question

will carry two marks. All questions of Paper II will be compulsory.
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PSYCHOLOGY

Paper II
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Time Allowed : 2 Hours]
Note : This Question Paper contains Hundred (100) multiple choice questions.
Each question carries Two (2) marks. Attempt All questions.
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[Maximum Marks : 200
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1.

Speech fluency is worst affected with

damage to :

(A) Pyramidal tract
(B) Broca’s area
(C) Pontine region
(D) Wernicke’s area

Conforming to an expectation or a
request despite one does not believe

in the activity is an example of :
(A) Conformity
(B) Obedience
(C) Compliance

(D) Acceptance
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Sleep spindles are associated with

which state of sleep ?
(A) Stage I

(B) Stage II

(C) Stage III

(D) Stage IV

In the POSH Act, the ICC has an
important role, and the full form of

ICC is :

(A) International Co-ordination

Committee
(B) Internal Complaints Committee
(C) Inquiry Co-ordinating Committee
(D) International Governor Council

Which among the following is closely

related to Osmotic thirst ?
(A) Plasma

(B) Angiotensin

(C) Cholecystokinin

(D) GABA
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Fiedler’s least preferred co-worker

measure provides an index of :
(A) Popularity

(B) Impression formation

(C) Leadership style

(D) Reactance

The process of breaking down the
goals into subgoals during problem

solving is called .................. .
(A) Means-end analysis

(B) General problem solver
(C) Flash bulb analysis
(D) Heuristic

Balance theories of Interpersonal
attraction make the assumption

that :
(A) People are basically good
(B) People need to be self-actualize

(C) Most behaviour is externally

motivated

(D) People attempt to achieve
consistency in their thought and

action
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10.

Trace conditioning refers to the

following :

(A) Conditioned stimulus (CS)
precedes the unconditioned

stimulus (UCS)

(B) Unconditioned stimulus (UCS)
precedes the

stimulus (CS)

conditioned

(C) Conditioned stimulus (CS) and
unconditioned stimulus (UCS)

begin at the same time

(D) Conditioned stimulus (CS) and
unconditioned stimulus (UCS)

ends at the same time

You are at a party and meet
someone you are really interested in.
You get that person’s phone number
but have no way to write it down,
so you use the process of ................

to get into memory.
(A) Retrieval

(B) Storage

(C) Encoding

(D) Rehearsal

9.

10.
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11.

12.

13.

Adaptation, selection and shaping
are related to which type of
intelligence according to the

Triarchic Theory of Intelligence ?
(A) Experiential

(B) Componential

(C) Contextual

(D) Creative

Albert Bandura suggests that social

learning is not only a

person’s behaviour learned but the
social learning environment is

altered by the person’s behaviour.
(A) Bilateral

(B) Reciprocally determined

(C) Bipolar

(D) Interactive

Post test counselling is an
important part of the handling of
cases of :

(A) Cancer

(B) Alzheimer’s disease
(C) Senile dementia

(D) HIV AIDS

11.

12.

13.
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14.

15.

16.

The scores of symbol search subtest
of WISC IV contributes to which

index ?

(A) Verbal Comprehension Index

(VCI)

(B) Perceptual Reasoning Index

(PRI)
Working Memory Index (WMI)
Processing Speed Index (PSI)

©)
(D)

In the
sexualities, the term cisgender

context of alternate

denotes :

(A) People whose gender identity
matches their sex assigned at
birth

(B) People whose sexuality is

undefined

(C) People whose gender identity

does not match the sex assigned
at birth

(D) People who are gender queer

The following tool is best suited to

assess personality disorders :
(A) MCMI
(B) MMPI
(C) MOCA
(D) NEOPI

14.

15.

16.
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17.

18.

19.

Which of the following is connected
with Guilford’s SOIs divergent
thinking ability ?

(A) Guilford - Zimerman Survey
(B) Mednik Remote Association
(C) Wechsler’s DIQ

(D) Crystallized intelligence

The Children’s Apperception Test
uses this material in the stimulus

cards :

(A) Photographs
(B) Animal pictures
(C) Cartoons

(D) Human figures

The term Development means a
progressive series of changes which

occurs as aresult of ............ and .......
(A) Biological and Psychological
(B) Age and Maturation

(C) Maturation and Experience

(D) Psychological and Social

17.

18.
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20.

21.

22.

The main aim of existential

phenomenology in Western

Psychology is :
(A)

to focus on objective reality and

facts

(B) to study human experience and

subjectivity

(C) to analyze the social

construction of reality

(D) to explore power dynamics and

hidden assumptions in society

The branch of metaphysics that
deals with the nature of being is

called as :

(A) Ontology
(B) Epistemology
(C) Methodology
(D) Positivism

The letter Q in the acronym
LGBTQIA + stands for :

(A) Questionable
(B) Queer

(C) Questing
(D) Quark
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23. Match each definition with one of the | 23. @Tel feoiean IR TIr= =ARA=T AT

four terms below :
Definition

(@) Aggression is caused by an

inborn aggressive instinct

(b) Aggression is a natural reaction
to aversine events, such as

frustration, pain, and heat

(¢c) People act aggressively only if

they have learned to do so

(d) Certain beliefs make people and
nations more likely to engage

in violence
Terms
(@) Social learning theory
(z1)) Freud’s instinct theory
(ziz) Frustration-aggression theory
(tv) Cognitive theory

(@ ) © @
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25.

26.

enables most

communication and exchange of
information between left and right

hemispheres.

(A) Cerebellum

(B) Corpus callosum
(C) Cerebral Cartex
(D) Limbic system

According to Asch conformity

decreased when :

(A)

At least four confederates were

present

(B) At least one confederate agreed

with the participant
©)

The participant was a male

(D) The participant had high self-

esteem

The person’s genetic make up,

obstetric complications and

personality known as

factors in Psychopathology.
(A) Precipitating

(B) Predisposing

(C) Perpetuating

(D) Prenatal

24.

25.

26.
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27.

28.

29.

Which among the following is a
spinal nerve ?

(A) Optic
(B) Olfactory
(C) Vagus
(D) Coccygeal

Anil after a stroke had a difficulty
in recognizing faces. This condition
is known as ........cccceennee. .

(A) Agnosia
(B) Apraxia
(C) Aphasia
(D) Astereognosis

Which among the
statement/s is/are true about

following

crystallized intelligence ?
() It is acquired through past
experiences and acculturalization
(i1) More the exposure better the
crystallized intelligence becomes
(ziz) Crystallized
rapidly during

intelligence
increases
infancy and declines thereafter.

Only (i)

Only (1)

Both (i) and (ii)
All (), (1) and (ii7)

(A)
(B)
©)
(D)

27.

28.

29.
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30.

31.

32.

The following could be labelled as

a behavioural addiction :

(A) Heroin

(B) Alcohol

(C) Gaming

(D) Nicotine

For Wason Selection Task, if the rule
is ‘If P, then Q’, the correct answer
is :

A) P, Q

(B) P, Not Q

(C) Not P, Q

(D) Not P, Not Q

In the context of integral Yoga,
what does the term “Psychic

transformation” refer to ?

(A) Cultivating inner peace

through meditation

(B) Awakening the inner divine

consciousness

(C) Annihilation of the ego

(D)

Achieving detachment from

worldly desires

30.

31.

32.
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33.

34.

35.

Which school of Philosophy would
favour the statement, “Since both
pain and pleasure are the wealth of

man, they are his good teachers” ?
(A) Naturalism

(B) Idealism

(C) Pragmatism

(D) Existentialism

In the case of domestic violence, only

the following statements is true :

(A)

The abuser alone is responsible

for the violence

(B)

The victim is responsible for the

violence

(©)

Both abuser and victim are

responsible for the violence

(D) Neither abuser nor victim are

responsible for the violence

In the Wechsler memory scale,

which subtest consists of passages ?
(A) Mental control

(B) Memory span

(C) Associate learning

(D) Logical memory

33.

34.

35.
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36.

37.

38.

The validity scales on the MMPI
and MMPI II are represented by the
following alphabets :

A T, F, C

B) L, F K

€ M, P, R

D) Y, N, C

A blank card is used in :
(A) CAT

(B) Rorschach

(C) TAT

(D) BGT

According to Kelley’s theory of
causal attribution we are most likely
to attribute another’s behaviour to

external factors when :

but
distinctiveness and consistency
is high

(A) Consensus 1is low

(B) Consensus, distinctiveness and

consistency is high

()

Consensus and consistency are

high but distinctiveness is low

(D)

Consensus, distinctiveness and

consistency are low

36.

317.

38.
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39. According to Piaget’s theory of | 39. fuzs =i=ar sieArcAs fasmar=a
cognitive development, the earliest W BTt ToATE afee 2o -
development stage from those listed
below is : (A) -SRI
(A) Sensori-motor (B) U8 WiwarcHs aTaeen
(B) Preoperational )

(C) =i Hirarrs staeen
(C) Concrete operations
(D) Formal operations (D) SThTR HlshdlcHeh 3T

40. “Glimpses of Abhidhamma” a famous | 40. ‘‘ferIEm Afh sy’ § Uias 506
book is written by whom ? o fafed ?
(A) Eric Fromm (A) 3= wiH
(B) Dalai Lama (B) ToTE wMHI
(C) Daniel Golman (C) I e
(D) Chogyam Trungpa (D) =T JOETE

41. Interaction effect in 2 x 2 completely | 41. 2x2 ‘?[\‘Tftl'lﬁ I fegs SIRTEEATH
randomised factorial design is best Frafera IRuTHE gaiky 9o e
d ibed by :

eaerbed by (A) IV 1 =1 IV 2 =% R
(A) Effect of IV 1 on IV 2
(B) IV 1 &7fo1 IV 2 ¥ DV & geifaa
(B) IV 1 and IV 2 significantly ST
impact DV
(C) DV =& IV 1 s7for IV 2 & gifera
(C) Effect of DV on IV 1 and IV 2 .
. . e AR Tefodl
leads to interaction
(D) Effect of IV 1 on DV changes (D) IV 1 =1 DV ) LA
for different levels of IV 2 AN ST SIS STodt ST
17 [P.T.O.



42.

43.

Which of the following are aspects

of need for power ?
1
(2)

Need to impress, influence

Readiness for performance to

influence people

Readiness for warm and

3)

communicative

(4) Desire to do better and be

successful

(A) only (1)

(B) Only (1) and (2)

(C) Only (2) and (3)

(D) Only (1), (2) and (4)

The five-factor model draws strength

primarity from :

(A) Cross-cultural stability of
questionnaire factor structure,
antogenesis, and gender

difference
(B) Strong experimental evidence

(C) Cross-cultural stability of
lexically derived FFM

(D) Strong genetic and biological

basis for all dimensions

42.

43.

APR - 13224/T1—A

W TAdeh! hI0d Tx=a1 e 9
3R ?

(1) wurfaa ST TS

o N

(2) W HE FHLOIET I TR

gyIfad
(3) Bfguiar & FowUE=T TE
(4) =T SO 9 9! BIUA=T 3581

(A) % (1)

(B) e (1) =TT (2)
(C) e (2) & (3)
(D) ®e (1), (2) (01 (4)

TH e TG Wielieishl HIA

= ¥ Head  ?

(A) TEATEET= H2eh T, fasm, anfor

femie o STaRahias feera
(B) HSTe[d WIS STER

(C) MR fHecrel STatHiwehias
feera

(D) §d SAATHHIS! TSled STeh1a S0
Sifeeh 3T4R

18
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44. The time it takes the intentional | 44. TIIWHRL Thhdal &M T A
system to become prepared for I S hIGEEl ANl oen 3
something fresh is known as a : TEAEa
(A) Refractory period (A) ATFIAHRT FT
(B) Refectory period (B) kel =1a
(C) Attenuation period (C) ¥pad wa
(D) Feature integration period (D) =R THATHLT 1]

45. Lexical research on personality | 45. =fadavaraie Wit (Tadieed) e
shows that : Tuifad &l
(A) Big-five are universal (A) &1 wEx § dfe® s
(B) Some cultures show different (B) wHTE! TEhdl A A A

factors (C) T TEhaMHed T&a = 3T ol
(C) Every culture has unique Ed

structure (D) Big Five (7 ®Eeg) 21Ul TH.
(D) Big-five and FFM are same TH. TH. T TH 3

46. When clinician takes detail history | 46. gl fefehcdeh ool RIS =TI
of delinquency and criminal offences AT 9 Frdredra fHeraet fere
with punishments received by (RITeT) TSI FHY gfgrer= Hifed
person. This format of case history TMeel hal. el & Yo qu?l%ﬁl
KNown as .................. : TRRA UL 3ol Sl
(A) Family history (A) FEfas sfae™
(B) Medical history (B) Serhid sferrd
(C) Personal history (C) Safaen/=afFmT sfaem
(D) Forensic history (D) DD B

19 [P.T.O.



47.

48.

49.

Central fissure separates .............. .
(A) Frontal and occipital lobe
(B) Occipital and parietal lobe

(C) Frontal from temporal and

parietal lobes
(D) Frontal from parietal lobe

is a fiber bundle that

connects the hippocampus with

other parts of the brain.
(A) Basal ganglia

(B) Corpus callosum
(C) Fornix

(D) Choroid plexus

Which of the following is a correct
order for steps in interpretative

phenomenological analysis ?
1)
2)
3)
4)
(A)

Theme identification
Encounter with text
Make summary table
Clustering

1) > 2 > @ > 3)
B) 2) >4 - B - (1)
C @ -0 -2 -1

D 2 > 1) > @ —> 3

47.

48.

49.
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e R &= fause &l ¢

(A)
(B)
(&)

hied g JAffeaiesd e

AfeTed 9 WEed A

hied dlad SHd d diEed
QIELIGMERIER

Hied @ed dIed AradEA
IERIEE

(D)

...............

T TF B dsd AR o
(A) < e

(B) =hIdH_ SHelEH

(C) i

(D) FRTS T

gfedieg thmHTelsitehel fagersomediat
OEE AFT HH IO AR 2
[EERicil e

e TaIeR, STH]

(1)
(2)
3)
(4)
(A)

Hiw daT oan

o1 /RIS

(1 > (2) >4 —> O3
B) 2 >4 - B - Q)
€ @ —->0Q -2 ->«Q

D 2 —»> 1) > @ —> 3
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50. Which of the following model | 50. @relieidsh! SIvd TEY % TEld 9 ol
assumes that velocity, form and m)%’mwﬁww
orientation of a stimuli are ' .
registered early and automatically iz R S
while objects are identified el A BT 7
separately only at a later stage ? R

(A) ®Zeh THATHRIT =Y
(A) Feature Integration Model
(B) Direct Perception Model (B) W&l HGT &
(C) Recognition by Component (C) TR @ UTEY
Model
(D) Pandemonium Model (D) eherE Y=SHIFTH Y&y

51. Which of the following is not a bias | 91- TICTEIhT I TSI TMHIes
of availability heuristics ? o Bomd sifeeer A 2
(A) Effectiveness of search sets (A) =" FEr=1 gurEfon
(B) Ease of retrievability (B) = |rmon
(C) Illusory correlation (C) V9Kl Heusy
(D) Misconception of regression (D) FHHIEE it

52. Which theory suggests that colour | 52. o fag@ =0 gee TSR A
vision can be explained by the EEAEC] k’ioh'mq{ MERar, & e, favan
existence of three types of cones, 9 e AT A ST HARAvi
which are maximally sensitive to T 2 ) )
blue, green or red ? (A) e e faem (faes wfwe
A O h 7:;':( 5 et

t- t : .
(A) Opponent-process theory B) 2 ( )
(B) Trichromatic theory (C) foaa feemmm fagia (S%d vy
(C) Signal detection theory ST )
(D) Gate control theory (D) T e fergr (gr frmm fasm)
21 [P.T.O.



53. Match the appropriate monocular

depth cue with each example :

@

(@)

219

(tv)

(@)
®)
()
(d)

(A)
(B)
©)

(D)

Example

One building partly blocking

another

Railroad tracks converging in

the distance

Closure objects appearing to
more faster than objects farther

away

Objects further away looking

smaller than near objects
Cues
Motion parallax
Linear perspective
Interposition
Relative size
(@ b)) © @
Gii) i) @) (o)
@) G) Gi) Gv)
@) G) @ Gii)
Gii) Gv) G @)

APR - 13224/T1—A

[

53. T Tiell Hohd 9 SSEL01 B4 SISl
LI

IETETT

(i) TH SHARG G-I SARGICN S¥d:
FAUTHT HLd

(i) SANTIER ®ad el Feam feuda

(iif) ST SAFAH I S S Beld
Med oW 9Ed, Tald I
SSRE

(iv) SEd T god gadd a%
cleld HHdd

Heha
(@) TeH STy THR
(b) iR qHufaes/ e giear
(c) TSR/ AETETTH
(d) Teifess wmEg/ame TN

(@ &) © @
(A) Gi) @) @) Go)
B) @) @O @) ()
(C) Gv) @) @ @)
D) @) Gv) @) @

22
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7 S perspective considered the | 54, = 1 gieRMEER SHi i
relation relationship between = IR, HcHhal, a9
individuals and their physical T WSS S, =g e ST
cognitive, personality and social e W
world.

(A) AFeEER!
(A) The humanistic

B) Sifas
(B) The biological (B)
(C) The eclectic (€) ¥
(D) The contexual (D) weefm

55. The three assumptions made by | 55. SifeH sretedl forehmd TS Sl
lifespan developmentalists include : IF TR
(1) A focus on human development (1) AT TaehmerR o) (2) Sieq feerar=n
2) An understandi f stability i & 2
(2) understanding of stability in - -
addition to growth and change and

1) BT
(3) oo ®
(A) The development persist (A) Toe™ 2 HYul S Faud g
throughout our entire lives e
(B) The childhood developmental . e s
P (B) STeThT=AT faehTETcHe SIget BIvm
changes are the only changes
worth studying @ T WE A e
(C) Some periods of the lifespan are (C) Siaehcadi = el shicerdl 749
more important than others o TR TR TeET A
(D) Development is a stagnant
process (D) fasrme & 7 SEeol ishen e
23 [P.T.O.
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Q. Nos. 56-58 : are based on the W, . 56-58 : HHT THEE MO
following paragraph. Read the

HISTOMES! TYNeeh HEeeig =

following paragraph and answer

the five questions that follow : faerfag a3, o It faum

o~ o

A researcher is developing yfateran g (sTmeren =g e

psychological test for measuring
. faum wfaee § Jma/ewEma

mathematical ability of normal

(0, 1) wfafsran Sofer B4, o™

sample. She wused Item

Response Theory (IRT) for the 300 GeuNET yed W@ e e

same. Responses are scored as

IRT model & 1 PL (FRHi&X b), 2PL
correct/incorrect (0, 1). The data model ¥ ( )

of 300 respondents was collected (FHX b emfor a), 3mfon 3PL

on 5-items. IRT models are 1PL (R b, a &M ¢) B
(parameter b), 2 PL (Parameter

b and a) and 3 PL (parameter, fergeToor T

b, a and c¢). The data is as ®) (@) (c)

follows :

®) (@) ©) Item 1 1.8 1.0 .03

Item 1 1.8 1.0 .03 Item 2 2.2 1.3 .002

Item 2 2.2 1.3 .002
Item 3 1.3 0.5 .08

Item 3 1.3 0.5 .08

Item 4 -1.0 25 .002
Item 4 -1.0 25 .002

Item 5 3.2 2.3 .02 Item 5 3.2 2.3 .02

24
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56. Which single item need to be | 56. 378 Ul Tk W9 (Item) 3T il hIeen
removed from the test to make the AT I=Y 9T UTa=a] S Eral
test suitable for average ability s drg B 2
individuals ?

(A) SAFZH/IZT 2
(A) Item 2

B) 3AmIeH
(B) Item 3 (B) ¥ 3
(C) Ttem 4 (C) 3mFeH/9% 4
(D) Item 5 (D) &AFEH/9%H 5

57. Item 4 in the test has : 57. TEUHETA Item 4 o0 :

(A) high discrimination, low (A) =g TauSiepu, =1 ey ot
difficulty, and low guessing 9 e
(B) low discrimination, high (B) f= a9, s=9 widivg afi
difficulty and low guessing = stersys
(C) high discrimination, high (C) S=9 Taustheur, S50 F3vg emfn
difficulty and low guessing 9 e
(D) low discrimination, low difficulty (D) =1 fastewt, fe swdva anfir
and high guessing = e
58. Which of the item/s is easy to guess ? 58. IENTTH TISIAUIEE! EIeieTyeh! ShIvw
T w9 e ?
(A) Item 1
(A) 997 1
(B) Item 3 (B) 799 3
(C) Item 4 and item 2 (C) 939 4 3o g9 2
(D) Item 5 (D) W7 5
25 [P.T.O.



59. Which of the following is correct

alternative for the Assertion (A) and

Reason (R) statements ?

Assertion (A) : Significance of F-
statistics is not necessary for multiple

comparison procedure (MCP).

Reason (R) : Most recent
researches (e.g. Grissom and Kim,
2005; Kirk 1995) show that no
comparisons are significant even if
the F is significant, and F and MCP

have different probabilities for

rejecting null.
Codes :

(A) Both (A) and (R) are true and

(R) is correct explanation of (A)

(B) Both (A) and (R) are true but
(R) is not correct explanation

of (A)
(C) (A) 1is true but (R) is false

(D) (A) is false but (R) is true

59.

APR - 13224/T1—A

“TaY™ (A) 21O RO (R) TG S

oS

faem feeht o1meq. @t o Gehdishren

e SO <.

{ &

: SgAY qOT Alhadrs

~

I F

faam (A)
ElEEIRG U PR CERE I

ST (R) : STe(hSial HINeE <9iad
(=1, oy amfor =619, 2005; T 1995)

] F AL T9en I qer aaoia

THA 01 FoAreel | sgiay ==l

YTl ITeTe 3THdId.

s +
+
.

(A) (A) =17 (R) ¥F 3Ted 2T (A)

T (R) ¥ oo T 378

(B) (A) =71 (R) ¥ a7 g (A)
T (R) = ool ESIeh{u &l

(C) (A) ¥ 3R Rq (R) B 7 3T

(D) (A) 3TFH 3T W (R) T A 3T
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60. Match List I with List IT and select

the correct answer using the codes

given below the list :
List-1
(Paradigm)
(P) Positivism
@
(R)

Social constructionism
Critical
(S) Post-modernism
List-II
(Emphasis)
(1) Objectivity
(2) Inherent problems
(3) Power, inequality
(4) Social context and interaction
Codes :
P @ ® 5
A 2 3 1 @
B 1 @ @ 3
e 1N @D 3 @

D 3 1O @@ @

APR - 13224/T1—A

60. dcr I oAty et 11 gefta e ol

9 o el feoiean Tehdierr=al ST

e e SasEl S wU
RIC |
(WrEm)

(P) HhRIcHRI

(Q) IS TEAHRTG
(R) Zrehrersh
(S) SMYfTehITET
R

(VT AT HET)
(1) =&gfead
(2) faffed wwen
(8) IR, STHHETG
(4) GRS w1 emfor STrRieha
F@ﬁ'l‘?ﬁ :

P)

Q@ ® ()
@a @ & O @
B 1 @ @ 3
© QO @ 3 @

M 3 @O 2 @
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61.

62.

63.

Trolling is a form of :

(A) Bullying

(B) Hacking

(C) Friending

(D) Appreciation

The term ‘illness iceberg’ refers to :

(A) When the majority of illness

symptoms are ignored

(B) When the most Psychiatric and
Psychological symptoms

ignored

(C) When prognosis of disorder

made on basic symptoms

(D) When the patient shows

comorbidity with other

disorders

For a completely randomized design
with IV at three levels, if we carry

out ¢-test, then :

(A) Type II error remains same
(B) Type II error increases

(C) Power is high

(D) Type I error inflates

61.

62.

63.
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Nes t

CAIGRI
(A) SRR
(B) e
(C)
(D) HIqH

TSR T 21 W WelieIteh ! Shive]

TTHTA GEHd IIell WA ?

EUS] TEh Rl

(A) Siog] 9gHed AR 18T gellard
EZSIRSIGIG!

(B) Sisg1 wU=  wAifawa  snfor

AFERIGE A0 Gl & hell ST

(C) S/egl AHEeh SN §UR STIHE
Tos TAUMAT §R hel ST

o~ e

(D) Si=gl T fafay (QchQ&ﬂ SITET )
HAfER SR < gifaar

quigul Fgfessh WA ARESHC!
IV & 1 "reeal ofe. SR Ao
£-=TEO Shedl, O

(A) 29 II Y9 Scod el

(B) 29 II YHIE oedl
(C) dfeR ameEd
(D) 2E9 1 Y9 aredl
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64.

65.

What is incorrect about Ekman and
Friesen work on the facial

expressions ?

(A)

Primary expressions include

surprise anger, sadness, disgust

(B) Primary emotions are universal

©)

Russell argued it as method

artifact

(D)

Russell argued for maximum

universality

High positive correlation between
self-report and observer report on

personality questionnaire indicates :

(A) High reliability of self-report

measure

(B) High reliability of other report

measure

(©)

Normative use of other report

measure

(D)

Validity of self-report measure

64.

65.

APR - 13224/T1—A
ThEA A0 rEeE A= ag-ameiie

qra-r= AfeHEteTe T ehie 3T ?

(A) wiafsr Afyemraed sme=d, T

IS, FOM AT

(B) wufaes yeq dfyas 31ed

(C) THe HHAI 1 d THAd Faqed A

(D) o1 Haituer Sfyeshae HE]

T GITaA S T&-3TgaTd ST

e 3T8aTa A S=a HTHS

Tggay TIfadl i

(A) E-TearerE 9 favadTiad

(B) fieres sTearart S<9 favag=rad

(C) e Igare= AFE a9

(D) T-3TEaTer=l dud
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66.

67.

While verifying the hypothesis in

research Type I error occurs when :

(A) A false null-hypothesis is

rejected

(B) A false null-hypothesis is

accepted

(C) A true null-hypothesis is
rejected

(D) A true null-hypothesis is

accepted

an

In the POCSO Act, POCSO is

acronym for :

(A) Protection of Children from

Sexual Offenses

(B) Prevention of Child Sexual

Offenses

(C) Preventive Office for Child

Sexual Offenders

(D) Processing of Crimes of Sexual

Offenders

66.

67.
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TINEAHES SR[ITH TSSO STl

TR9-1 THE Hhedl Tedl 7

(A) e e A% FAITE herese
EIG)

(B) Siegl e A% AWM Wihre
EIG)

(C) V@l T NS IIWTH  Theledel
STl

(D) “egl T 19 STYTTH TR
ST

et Yeemed POCSO &1 dfara sissm=n
fommr o1 B

(A) JeRM 31 Taeeg M TeRge™
Awfgyg (Irawis dfos
SOOI SX&TT)

B) fuzRe AT® =Eee AHw(AA
Aefoa (Iras wfres e
PIREL))

(C) fustfees +AfthE ®R wETs JaR1eTa
Athed (ST fiTeh 3o gfdee
HTETEH )

(D) (T ST Sioek T W) TR
Hh sy A YeRpeTe Ahed
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68. Which of the following alternatives

is true for the statements of

Assertion and Reasoning ?

Assertion (A) : While studying the
relationship between gender and
extraversion researcher used a point

bi-serial correlation.

Reason (R) : A point bi-serial
correlation can be used when one of
the variables is naturally dichotomous
and the other variable is continuously

measurable.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

APR - 13224/T1—A

68. faum (A) 1o o (R) = faummat

EATAdeh! Il 919 el 38 ?

faam (A) : fem et RIE|
Y HIIAT GINLR UiEe sHeiEs
TS TedsY SN

HOT (R) : Sl T e A9
fg-faursr o, enfor gom aftae wem

HIT 3778 dogl Uiee ariiiad ggaey

TN 3.

o .
-
+

(A) (A) &for (R) =1 & ™ (R)

T (A) ¥ TR TET 3T

(B) (A) 311 (R) <t §ed 34 (R)

T (A) ¥ TR0 e TRl

(C) (A) & T 3R, 97 (R) ¥ 3/
T

D) (A) T 3EH e 997 (R) § 9
318
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69.

70.

71.

What is the innermost layer of the

meninges ?

(A) Dura mater

(B) Pia-mater

(C) Choroid plexuses
(D) Arachnoid layer

Understanding a metaphor or an
analogy involve which of the

following cognitive functions ?
(A) Episodic memory

(B) Decision-making

(C) Procedural memory

(D) Abstraction

According to analytical therapy
which four stages sequence is a

correct example ?

(A) Education; Elucidation;

Confession, Transformation

(B) Transformation; Education,

Elucidation, Confession

(C) Confession; Elucidation;

Education; Transformation

(D) Elucidation; Education,

Confession, Transformation

69.

70.

71.
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RSh TSl Helld STdeTl 2R Shiordr ?
(A) = HX
(B) UM T

(C) RIS iR

(D) TWHEE R

®Uh AYA WG ATA] AR

HIOTd SR wE A ?

(A) ®AT Tl
(B) o= eqwan

(C) ufsrarcHeh il

(D) A

~

b = n =~
[ARASUIIcHen  HIAAHEIX HgalAAlY]

EATeTdeh] SRl AR HHAMAT AT HH

IR AFA 5 ?

(A) Toreror; TIEIeRT; Sheeiientor; TfRe

(B) aRE; freior; STientor; ey

(C) Heetienor; Tqseienor; fraror; ufteads

(D) Eqiehor; foreror; sheeftentor; afterd
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72. Which of the following is not a | 72. @reiaie! Hivr fafkre w2 qememE
typical component of prejudice ? e ?
(A) Stereotyping (A) FrEsERqo
(B) Catharsis (B) for=r
(C) Discrimination (C) gV
(D) Negative feeling (D) ThIIcHS YISl
73. The validity of a psychological test | 73. HHEITET Ir=vi=i Fendar ¥ gvied :
reflects that : (A) =1 AR qHd IR 9T
(A) on repeated use it yields similar I
results : .
(B) Multiple versions of the test B =1l R A W
yield similar results
(C) Inter-correlations between (C) =rviidiel FYArHeA o HeHdH
items are positive STHdrd
(D) The test measures what it (D) =M= S A9 O HIUEET Sevd
purports to measure 3Tl
74. Social psychologists interested in the | 74, gmfas wFEEITET @ TUTHT=A
study of altruism have been SIS Afvet Sread, faered:
especially concerned with its = HEgEed fed STeaa
:Zl)at;OHShf})l to : (A) FEI
mpathy =
(B) Egocentrism (B) ¥
(C) Social facilitation (C) TSR Al
(D) Cognitive dissonance (D) sherfer feoream
75. Transformational grammar theory | 75. <I=Hehi=l UEfawEl GRed=1a SATRTOM
of language by Chomsky argues for : fagid & @ &6t
(A) Surface and deep structures (A) W% s feu =
(B) Finite state grammar (B) fofha fegdt =ameRto
(C) Non-modular structure (C) TTATEe =
(D) Relativity (D) |
33 [P.T.O.



76.

77.

78.

On the WAIS, the ability to deal
with abstract social conventions,
rules and expressions is assessed
through which test ?

(A) Information
(B) Similarities
(C) Picture completion

(D) Comprehension

An in which the

individual’s score is compared with

instrument

scores of other individuals is called :
(A) Ipsative instrument

(B) Projective instrument

(C) Norm Referenced instrument
(D) Criterion Referenced instrument

Which is correct if the following are
arranged in order of stratum I,
stratum II and stratum III theory

of intelligence ?

(1) Thurstone’s PMA

(2) Guilford’s 150 abilities
(3) Spearman’s 9 factor
(A) (1), (2) and (3)

B) @), 2) and (1)

(C) (2), (1) and (3)

D) 2), 3) and (1)

76.

77.

78.
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o &1 A0, SV SUETE GIHIST

gaa 9| 9 ugdr "og ?
(A) TRIETE (Hifed)
(B) fafhetfEE (|m=)

(C) TR wroeiy (o qui &)

(D) wife=<E (AHeT)

STeRiT=aT TUTE! 3% Sa oFerd <A
TUTERIER. &1 B, 3T Ar=oiel M
Helgdd ?

(A) AT =T

(B) &G

(C) AMhIEX aemia ==l

(D) freeaR smenfia <meron

wed I, ®ed 11 oo wed 111 =1 e
T dfgHal S Aed T A A
A ?

(1) o=7= PMA
(2) frewrE=n 150 &

(8) TeNHT=T 9 W&

(A) (1, (2) zufr (3)
(B) 3), (2) e (1)
(C) @, (1) e (3)
D) 2), (3) sufu (1)
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79. Which of the following suggests that 79 TR S o8 TR
immutable, biological characteristics R SR et (. fo) %
(eg. gender) are product of human S oql@qil A A A
definition and interpretation shaped ;
by culture : '

(A) Critical perspective (A) IR g
(B) Existential phenomenology (B) SRS HEARIE
(C) Post-positivism (C) SW yeaeedem
(D) Social constructionism (D) TSR =g

80. Who used levels of processing | 80. YAMHIAER ST&Hdal 9 %q\ﬂl oy
procedure to investigate the effects TR TR TS STERT S
of intentionality and awareness on

: el ?
retrieval ?
(A) Jacoby and Dallas (A) sl 9 ST
(B) Schott et al (B) ¥z 9 T
(C) Richardson-Klavehn and . .
: (C) TESTT-FMeed d TS
Gardiner .
(D) Gardiner and Jawa (D) MfeR & <&

81. Which aspects of knowledge | 81. Eriiciis! HIVd FHN UEH ARGaT=
Paradigms refers to the nature of weqEEd ged Ty ?
reality ? .

(A) A
(A) Epistemology
e (B) WehTIcHR
(B) Positivism
(C) Ontology ©
(D) Constructivism (D) T=ER
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82.

83.

84.

In a 2 x2 completely randomised
factorial design, how to determine

interaction effect ?

(A) Statistical significance of SSyy;

and SSIV2

(B) Statistical significance of

SSty1 % SSyye

(C) Graphical presentation where

lines cross each other
D)

Insignificant error term

Interaction df for 2 x 3 completely

randomised factorial design are :
A 1
(B) 2
©) 4
D) 6

Which of the following theories is not
considered as a part of stimulus—

response theory of learning ?
(A) Thorndike’s theory

(B) Pavlov’s theory

(C) Skinner’s theory

(D) Tolman’s theory

82.

83.

84.

APR - 13224/T1—A

TH 2 x 2 OO0 IGTogeh FeehTIaRI

SATETiHEd  TaifEa

A 7

(A) SSpy; &MU SSpye = HETHE
GERIEGI

(B) SSpyq x SSyyg ¥ WITTHTH

LTI

(C) [T i SIY I THHHAl B8
G|

(D) Y TSR T

qfioH &4l

TH 2 x 2 [0 FGiesh FERER]
ARESTHE df #TRd

A 1
(B) 2
C) 4

(D) 6

ST SEOS STfohen fograa &

ST O B AR

(A) ofHers fage

(B) durescies Tagd
(C) fert fagia
(D) 2 fagd
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85.

86.

87.

Which of the following are defining
aspects of flow ?

(1)
(2)
3)
(4)

It’s a state
Somewhat rare
Occurs under any condition

Occurs when skill and challenge

are imbalanced
(A)
(B)
©)
(D)
MacLean’s (1952) influential limbic

system theory of emotion is based

only (2)

Only (1) and (2)
Only (3) and (4)
Only (1), (2) and (3)

theory of emotion.

(A) Papez’s

(B) Cannon Bard’s
(C) James Lange
(D) Two-stage

The of

consistency and distinctiveness are

concept consensus,

most closely associated with :
(A) Attitude change

(B) Persuasion

(C) Propinquity

(D) Attribution

85.

86.

87.
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T TeTIh T IO Wl (TaTeraen) = o
aMed ?

(1) o ferdt o

(2) FTE UHMG GHIS

(3) wvrErEl gRfE o 2

(4) I § ITRM AT STHHAETN
o 29

B (2)

Therd (1) 2foT (2)
Theld (3) SATMOT (4)
el (1), (2) 30T (3)

(A)
(B)
(®)
(D)

n

Yo =l fe

rn o Ja

dle <M fagma @
e fagaerR snuia e,

(A) 9™

(B) & =T
(C) ~mq =M
(D) fgeres

ThHd, Traed ST STun &1 Hehed T
o ST S T

(A) YT e
(B) Hdestaol
(C) gr

(D) T
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88.

89.

90.

Bottom-up processing is to

stimuli as top-down processing is to
.................. stimuli.

(A) Unfamiliar; familiar
(B) Visual; auditory

(C) Familiar; unfamiliar

(D) Perceptual; subliminal

The process that leads to the

awakening of inner being is called :
(A) Meditation

(B) Yoga

(C) Sadhana

(D) Prayer

Which of the following is the correct
description of the Kruskal-Wallis

test ?

(A) It requires the assumptions of

parametric test

B) It

alternative to one-way ANOVA

is a non-parametric

It

alternative to correlated ¢’ test

©) is a

non-parametric

(D)

It is used when there is a large

sample size data

88.

89.

90.
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Jeel-aR Wlshall T SEIaehie Hefed

o o [}

(A) 3TTesEl; AlBErd

(B) =; 1A
(C) 3Tes@E; 3T resw

(D) Heeameht ffed; s

STafter  IfEdar=l SN[l HIvaTErel

ehR BRI Yiha™ 318 wed 9
(A) &FFYROn
(B) 4rm

(C) wre

>

(D) WY

" o AN A
E S N I EIREIFHIERCIHINEED

HIUT IO SEL 3T ?

(A) Il Y= TR STEREsh 3THd

(B) & whart fo=wo fagasomast
YA Y= ST

(C) T HegeHt ¢ I=viEe! U 93

Sl

(D) Siegl YSTEl AT SRR |31 3TEal

geel I SUINT LA
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91.

92.

Following are the statements of
Assertion (A) and Reason (R).
Answer them with the help of the

following code :

Assertion (A) : It is appropriate to
use means and end heuristic for a
target of completing the academic
syllabus in four months.

Reason (R) : Because it requires

one to identify the end and divide

the syllabus into attainable chunks
to reach the end.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is the
explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

not correct

Gita upholds the necessity of :
(A) Rewards, Puraskar

(B) Action, Karma

(C) Self, Visada

(D) Knowledge, Vidhya

91.

92.

APR - 13224/TI—A
“faug™ (A) st ssror (R) 9! @ret

YR ST <.

fagm A) : =R A= Vaf
ST HYAUAEIS! e ST Y
T (W e Tey gaREE)
IR AT 3T

HROT (R) :  I19TEl gide TMeEA

AIYFHIE Ul I M ThIET

YR 0 TEvas 3T .

(A) (A) 371 (R) G619 e ST
(R) ¥ (A) ¥ =s KU 3R

(B) (A) smfor (R) ¥ Qe 9 3T,
g (R) ¥ (A) & IFg RO &

(C) (A) T 38 W (R) § 3TA T

(D) (A) 3FH 3T, W (R) & T e
UicECIE iR L T

(A) =&fE, TR

(B) &dl, =d

(C) =, faormg

(D) [, faen

[P.T.O.



93.

94.

Which is correct about Wuest’s

approach to grounded theory ?
(A)
(B)
©)

Modern feminist epistemology
Post-modern feminist epistemology
Modern

epistemology

gender-neutral
(D) Post-modern gender-neutral
epistemology

Which of the following alternatives
is correct for the following “Assertion
and Reasoning’ statements ?
Assertion (A) :

dimensional model of personality

Cloninger’s tri-

provide novelty seeking as a
biologically based dimension.
Reason (R) : According to this
model, low level of serotonin drives
to seek experience (or substance) to
increase serotonin and novelty and
thrill make up for low serotonin.

Codes :

(A) Both (A) and (R) are true and
(R) is a correct explanation
of (A)

Both (A) and (R) are true but
(R) is not a correct explanation
of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(©)
(D)

93.

94.
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UEeE fusAtaE ST gEe=dl

gfSeshMETed hIvd s& Mg ?

(A) 3y SfeR] AT

(B) S 3Mffeh EaR] JH9m

(C) 3nyfTer felTaesy AL

(D) SW MY faTaesy AT
“faum (A) et SR (R) ' 91 9
qe faum foeit omed. @met foden
faam A) ¢+ FoE SfaEEE
ffada gy A &) AT Sie
(Fregeel THeplT) & Siaemeid e

FHRUT (R) =7 YIEITLER,
AT T iee e Tlieh STIHarhe

(FRRIFS) 3 | SIS T |
HIEE Tt Bg TASH =] Tdes! ol
W :
(A) (A) afor (R) § S ¥ 3Med,
S (R) B (A) = S8R R0 3T
(B) (A) a1 (R) & Sel | 3Teq,
97 (R) & (A) & SR HRU TR
(C) (A) & 3¢ 9u (R) ¥ &9 38
(D) (A) 3TEA TR 901 (R) § T T”
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95.

96.

Which of the following are

components of Sensation Seeking

Scale (SSS) ?

(1) Thrill and adventure seeking
(2) Experience seeking
(3) Boredom susceptibility
(4) Novelty seeking
(A) Only (1) and (2)
(B) Only (2) and (3)
(C) Only (1), (2) and (3)
(D) Only (2), (3) and (4)

Which of the Five-Factor model
domain is further separated by

HEXA Co ?

(A) Extraversion (E)
(B) Neuroticism (N)
(C) Agreeableness (A)

(D) Conscientiousness (C)

95.

96.
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TEeTden] ShIo S9H it wherd
9 ed ?

(1) fuer snftr sfesg=r slem
(2) eTvE e
(3) @ FeUTIl
(4) FEtoA e
(A) % (1) amfor (2)
(B) e (2) &0 (3)
(C) ®e (1), (2) 2for (3)

(D) e (2), (3) aATr (4)

= T9-9e% agarar vl

™™g HEXA Co ¥ 97l el ?

(A) (E)
(B) =gUerE™ (N)

(C) sTHistee ¥ (A)

(D) =HiEE=RieETg (C)
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97. Match List I with List IT and select

the correct answer using the codes

given below :

List-1

(Theoretical Perspective of

Lifespan Development)

(P)
Q
(R)
(S)

(1)
(2)
3)
4)

Socioculture
Psychosocial
Sociocognitive
Bioecological
List-II

(Theorist)
Urie Bronfenbrenner
Lev Vygotsky
Albert Bandura

Erik Erikson

Codes :

® @ ® O

@a 2 @ @ @

B 1 B @ @

e @ @ @O 3

D B3 1 @ @

APR - 13224/T1—A
97. It 1 ety I} 11 JmeEis S @

o Yeld Hehdlehr=Al SMER I A :
aret 1
(Shamam faesmam=r Hgifasw gfea)

(P) HHISHEGR qH
(Q) TS
(R) FHTSTETEAR

(S) <& uRfEerdieT=
Iaret 11

0 -
+
-

(P)
(A) (2)
B) (D
C) @

D) 3)

(SATe)
(1) I FTEAIR
(2) ©& AR
(3) 3T arel
(4) Uk Hwe

(Q
4)
3)
(2)
(1)

(R)
3)
(2)
(1)
(4)

S)
(1)
(4)
3)
(2)
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98. Which of the following is/are true | 98 TEH YEHINTH STEUIEETE Eeleds]
about the quasi-experimental T T AR 7
design ?
(I) It allows a stringent control on (D) ST AR i?TIEl'{E(Uf o Theaierd
extraneous variables. (I1) Tt Hfl)cl'ﬂitlﬁl ST R
(I) Random  assignment  of g Ty e 3
participants to different groups
is easily done. (A) T (D)
(A) (D) only (B) W (1D
(B) (II) only
(C) (I enfr (D) =t
(C) Both (I) and (II)
(D) Neither (I) nor (II) D) @ (In) I
99. To combat bullying and peer | 99. TERIFK & rl-lﬂiqug CEE BTER T AReTm
pressure the following training is the T guEy S@ e
most beneficial : .
(A) FYw
(A) Communication
B) ANTE EH
(B) Martial Arts (B) A
(C) Legal knowledge (C) FrTET= FH
(D) Assertiveness (D) Q™Yo
100. The theory of response inhibition is | 100. Tfsha iy sr=eh g9efyd ae
related with the :
(A) faefom
(A) Extinction
(B) S1eATId STHRERA
(B) Learned helplessness
(C) Latent Learning (C) ga s&
(D) Spontaneous recovery (D) sl ATl
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ROUGH WORK
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